
a

b.

c. Explain the M-ary PSK.

2 a. With a ck diagrarn,

b.B is transmitted
to have average probabilitY

detection of binary FSK technique

ntodule.

if.

(06 Marks)

(08 Marks)

at arate of lMbps. It is desired

218C51
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Max. Marks: 100

Determine the

type. [Assume
(06 Marks)
(06 Marks)
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these

channel

P, s 104 = 10-l

ISaverage carrler power
erfc (3.5):0.000251.

c. Explain the

at recetver

ofD

3 a. Explain the
orthonormal

eneigy'signals as combination of N
2 and M : 3 with necessary diagrams

2
set of in

case ofN :
and
Exp coherent

signals with

find the set of orthonormal basis function

s3(t) as shown in Fig.Q.4(a). Also express each of

Fig.Q.a(a)
(10 Marks)
(10 Marks)

, , tltlii:. (08 Marks)

detection. (06 Marks)

controller ISl-partial response signal.
r (06 Marks)

b.
c. design

a. ,,.Using Gram-
to represent the sr(t),

ofset of

tr4

Nyquist condition for zero ISI.
I of3

3

qJ

4

b. State an{.p:ove

".,1, 
'r''

I a. Derive the exPression for

for digit 1 or 0 is 1 microvolt.
non-coherent detection.

of binary keying using coherent
(08 Marks)

at the rate ofT x per sec. During the source of
spectral density lo-2owHz istransmission, AWGN mean and two

added to the
Determine the

of
of symbol

3
3

.l
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Module-3
5 a. Explain the model of spread spectrum digital

b. With a neat block diagram, explain the CDMA

OR
6a.

b.

c

7a.

iii) Source

rs-9s.
(10 Marks)
(10 Marks)

(08 Marks)

Shannon's binary encoding procedure.
(08 Marks)

iv) Rate of
b. Construct following,s0wce using

0.25, 0.15, 0.12, 0.08).
of controlling

'r'.'_-'' oR

for the

.;!

Sl, s5) p: {0.4,
c. Exp of methods EITOT (04 Marks)

8 a. Six messages symbo ls with probability of 0.4, 0.1, 0.07, construct a binary

code by usmg encoding Also efficiency and

redundancy (10 Marks)

b. A source produces 5 with and 0.08.

i) Construct Huffman code

ii) and of the

iir) Draw
&""'$

(10 Marks)

0.1,0.3,0 4:.,,:F12

.ii llll

Codg -', :r'.,*i'

.sht

Module-5
111

.dl

u-, 
{#.(7,

s$fisl:r,:::i:$

r,),@trilit

'\:.:"S"*r
:

110
9 4) linear block partly P 101

011

(10 Marks)

g(1): (110), g(r) (101) and g(3) = (111)

diagram.

for information sequence (11101) using transform domain

D
ir)
iiD

b. A(3

codeFind
Draw

,1,2) lutional
i) Draw the
ii) Find the
iir)

d'

" . ^vq&

d *--- ""
W"

,$

2 of3

(10 Marks)

transmitter and receiver
(08 Marks)

in a DSSS
receiver is 20dB.

(04 Marks)
(08 Marks)

.ah;" 'W
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10 a. For a (2, 1, 4) convolutional encoder as shown in

Find the codeward
transform domain

b. A, (2,1,2)
transition
encoded

\o \t\

(10 Marks)

Fig.Q.10(a)
to the (10111). Using time domain and

(10 Marks)

encoder as shown Fig.Q.10(b). Draw the state table, state

and code tree, for the message 101 1 1 . Find the

ctr/

{l'

10(b)

-W!,
v'

d .id&t

3 of3
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(08 Marks)
(06 Marks)
(06 Marks)

a. Explain with neat diagranr. i,',., 'l slrii,r ' :',eraticlir irr ARM processor.

b. Explain with an exarnplc ,lr r-.'i;: r:rplr( r'( using s\vap instruction.
c. Deveiop an assernbly lan':Lr,r' ' ,-r-osra:.: , ltultitrl'r,two l6-bit numbers.

1ot'2

1--l ztBC52

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(06 Marks)

6

Time: 3 hrs. Max. Marks: 100

Note: Answer ary FII'E Jitii i: ; , '{i,'.'. :ttg Gi E /itlt qttestiort fron, euch nrodale,

, '- t

I a. Withaneatdiagram,clisr:r.r:,,.',::,; , ,:i1 corcrptsiiracontputerhighlightingtheroleof
PC, MAR, MDR and II{. (10 Marks)

b. Explain system software lii;i,;l , : i' 'lct'. (06Marks)

c" Explain computer basic pr:i l.r , 'n (04 Marlis)

r\ tlrll\

with neat cliaglara;

USN

2 a. Explain
b. With a

and lines.
c.

a.

b.

a neat cliagianr,

3

4

5

With a neat diagram, explain t
State and explain the typcs r , i'

Fifth Semester Il.ir. ,r" " '

Gomputer Grga, ' '1

rl lnlna
^n.2024

$L:"sm M icrocontrollers

(10 Marks)

cUscr':.:; i,:'rrrl. ,, , ion ol' ;nterrupt priority using individual request
(06 Marks)
(04 Marks)a cQfirjllrtcr using different interface standards.

' s; -,ntn

"

hc internal organizatJon of l6 x 8 memoty-ehip.
i'cad only rncmorr" axdlinemory hierafLffi,

a. With a neat diagranl
b. Explain basic idea of

r:_.1

a. With a neat diagr&I1r, c)rl,;iri r the 1c rrrair hrrrdware components of an ARM based

embedded device. (08 Marks)
b. Discuss ARM design philos.,; ,', , (06 Marks)

c. Explain the factors that nrll,.r: ',lll rns: L iiott sct ;Lritable

a. Explain ARM corc data ll.r',' i-'l ' rciii rlir3rarn.
b. Explain the different proce sstri nrorles 1,'r,','icled by ARM7.
c. Discuss with a neat diugnrrir

i) Von Neumann architcctitic with r': r,ir',1
ii) Harvard arcltitecturc rt i;ir i'Cli'i

for embedded applications.

" il it ',I''

explain the tluec bris orgalrization of a &&path.
pipelining and 4-sirgc pipeline structur,d

(08 Marks)
(06 Marks)

(06 Marks)
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ir'. odulr-5
9 Discuss with an eranrpii -t,ile il in tlnrn'u instrr-rction set

ztBC52

i,;.,
a. Explain the follolving r,r i:h c.tar

i) MSR ii) MVI{ iiir 'i S1' ', '. (08 Marks)
b" Explain with an exanrpir: icr:rvli, ' .;,-ll' ,,,irrch. (06Marks)
C.Developanasscnrb[vll.ll!]irlt9...:ljili

execution. (06 Marhs)

_, Gry
ove&h#Ifl.

li

a.

b"

c.

Explain ARM-thumb irtL' :r'ti,orl.,
Explain with examplc tlr rri',b s1 uiluratlons

"!

,-:f using 'char'

(08 Marks)
(06 Marks)
(06 Marks)

' as local variable types in
(08 Marks)

with their implernentatior.
(05 Marks)

and unsigned int with an example.
(07 Marks)

10 a.

t,' .,m,

, i-*$ff

and'$hort

b.

c.

g for an

e rlcles c

AItIi,{ tiir,$et

l'sisned int
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channel of 200 kbps, what is

(06 Marks)
(04 Marks)

(06 Marks)
(10 Marks)
(04 Marks)

(10 Marks)

also draw the FSM for the DHCP client.
(10 Marks)
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Time: 3 hrs

1

)

3

4
b. A pure

the
(i)
(i i)

C

5 a. Explain c

a. Explain
b. Explain

network
if the system (all

per s

bit frames

frames per
frames per

the

6r/ ....-

Ethetq1it;*r,'

b. Explain diagram, the services provided by network layer
c. Explain datagram connectionless service.

OR
with neat diagram.

ln

ofDHCP with neat diagram,

iii:ffi

lof 2

a.

b.

Note: Answer
jr
from each module,

diagrarn to show logical
connection between layers. (10 Marks)

b. Compare variolrs physical topologies in a computer network. (10 Marks)

OR
a. Explain five components of data comnrunication with a neat diagram. (06 Marks)

b. Explain different types of data-flow with a neat diagram. (06 Marks)
c. Explain ditferent types of switched networks used in computer network with relevant

diagram. (08 Marks)

Nlodule-2
Explain character-oriented &aming and bit-oriented tl'arning with an example ,

Wirh a ncat diagrarn. explairt standerd Ethemet frame fortttat.

a.

(10 Marks)
(10 Marks)

(10 Marks)
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(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(06 Marks)
(04 Marks)

(10 Marks)
ve resolution and (ii) iteration rcsolution.

(10 Marks)

b.

8a.

9a

l0 a. Explain ab

b. Explain and its types; (

*i :4*,drhl#

dl :Y
,'qtw@s

ii n

g

.,;.1-.-*-i1

2 of}

OR
Explain Go-back-N protocol, along with siiding window diagrams.

layer.

:

c

b. Explain Time-line diagram for a common scenario.

explain
b. Explain the formats of

Explain FTP with a

.,{
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form.
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5 a. State and prove LtniqLl

Module-3

SC this theorem

(08 Marhs)

to evaluate both sides of the theorem for the fieldb. Define Stoke's

H=6xya, -3y'6, A/m and the rectangular path around the region,2 < X ( 5, -1 < y S 1

and z-- 0. Let the positive direction of ds be i, . (12 Marks)

I ol'2
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6 a. Solve the Laplace's equation for the potential field

two concentric conducting spheres with radii 'a'
r:bandv:vo atr:a. Also findthe

ztBC54

geneous region between the
that b > a, if potential v: 0 at

concentric spheres. (08 Marks)
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8
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2 ot2

b.

c.

b.

c.

a.

b.

c"

a.

b.

c.

b.

c.
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E

b. What ethical
determining in Engineering

3 a. How

and responsibilit'ies shou ld be taken into account when
(10 Marks)

distinguish new and existing knowledge during a literature

7 a. Explain the criteria

b. Explain the
holders?

., ::,,,, 
"ir111111111

thaf.an.oiiginal
a

Module-4
work must meet to quality for copyright protection.

(10 Marks)

of copyright registration? What are the benefits for the copy light
(10 Marks)

u $dffif
I of2

Examination, D ec.2023 I J

21RMI56USN

Fifth Semester B.E. Degree a.n.2024

1

",

Research Methodology & lntellect'tral Property Rights

Time: 3 hrs. Max. Marks: 100

a.

b.

algorithm?
b. What is impact of Title

Note: Answer any FIVE full questions, clroosing ONE full question from each module.

a. What is Engineering Research? Whm#primary objectives of conducting research in
engineering? Ilo Marks)

b. What are the varior"rs types of engineering research? Explain. (10 Marks)

(10 Marks)

and Keywords on Citations? Explain Citation based knowledge flow.
(10 Marhs)
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a.

b,

8

a.

b.

9

10 a.

examples of well known indications
overall ecosystem

(10 Marks)
of geographical indications

(10 Marks)

in India.
b. How would you

in India?
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(10 Marks)
different types

(10 Marks)

Explain the process of Trademark
Explain the classification system
of marks.
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makes the answer invalid.

on the OMR sheets are strictly

the same question

using whiteners

1

)
'+i;t:#*

"@

b) Environmental
c) Environmental
d) Enviionmental

',i, b) Risk management

) d) None of these

in ISO
c) BIS

4 Which of
a)

high population density
c) USA

d) BCCr

d) Western Europe
5 Which of the following is having

a) India b) China

c) Technical
d) All of the

6 Environment is targeted to
a) General
b) Professio

Paper Version : D

. i,i,,*F::

,ej*d''

groups

Ver-D - 1 of4

Time: t hr.l

Fifth Semester B.E./B.Tech. Degree
Environm

Dec.2023lJan. 2024

[Max. Marks: 50

ies

IN{STRUCTI THE CAI\DIDATES

1. Answer all the fifty question carries one mark.

2. Use only Black ball for writing / darkening the circles.

3. For each question, your answer, darken the appropriate circle

corresponding to the same question numbei on the OMR sheet.

deatrs'with
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7

8

Discharge of municipal waste cause
a) Depletion of dissolved oxygen
b) Destroy aquatic life
c) Impair biological activity
d) All of the above

is are referred to a Earth's lungs
a) Forests b) Carbon cycle

9 Solid waste is best managed through
a) Incineration b) Open

10 Love canal tragedy is attributed to
a) Soil pollution b)

11 Disaster management

21

c) Air pollution d) None of these

mg

d) English

Rules 1998, waste should

s

*cpffiter sources d) Miner

landfillSanitary
:::::,,

c)
,{,P**C,,,P*Pott

2A

a) 12 hour;, b) 48 hours c) 72 hours
Ver-D -2 of 4

d) 96 hours

12 What is the
a) Arthritis

13 What is the
a)6-9

14 The infiltration of water into the subsurface
a) Influent b) Effluent

l5

16

health effects of fluoride
b) Diamhea

permissible range of pH
b)6-8.s

in drinking waster
c) Anemia d) All of these

for drinking water as per Indian standards
c)6.5-8.5 d)65-7.s

is the
c) Discharge d) Recharge
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22 Pyrolysis is an _ process

11

24

,(

26

27 The term hotspot
a) Norman Myere
c) A.G. Transley

28 In an
a) Always
b)

29

30

31

32

sources such

a)H
b)

35 The OTEC is an

a) Energy in
b) Energy in
c) Energy in

by-

flow is alwa

1

b) Jacob Von Verkul
d) Ernst Haeckel

was

{-,iS\,,

v-l--l:-

d) Petro I

a

d) Kaiga

d) Fog

d) None of these

s surface
48km d) 190 to 480km

for research and development in renewable energy

, biogas and solar powerpower

Famous
c) Ministry of new and Renewable energy
d) Health and Family welfare

technolo gy that converts
of ocean to generate electricity

to generate electricity
due to thermal gradient to generate electricity

fast moving ocean currents to generate electricity
Ver-D -3 of 4

,4 .*... j

,6i

Which of the following is an air pollutant

l,,T::::::'" 
b) oxYgen c) Ni'lrogen

a) Local environmental issue

b) Nation environmental issue

c) Both a and b
d) Not at all an issue

Earth day is held every year on :

a) June 5'h b) November 23'd c) April 22"d

c) Both a and b d) Neither a and b

c) Corrosive cl) Odorous

d) Pafiiculate matter

d) January 26'l'

ra,lh

directional

a) CNG

a) Bhadravati b)

The main cause of damage

a) Water pollution b)

1S

amount of

Sandur

is called.
c) Adaptation

33

Reducing the
a) Mitigation

Ozone layer is

a) 19 to 48m

change

J

34 'Which ministry



36 In a Lake, phl,toplankton grow in abundance in
a) Littoral zone b) Limnetic zone c) Profundal

37 'l'he prcscribed limrts of noise in residential arca during
a) 55dB b) 45dB )c

?1CM7

d) Benthic region

d) s0dB

38 fhe rnaximum allowable concentration of
a) 3mg/L b) 2mglL

water
d) l.5mg/L

OI

a) Food security
c) Sustainable development

b) Global warming
d) Ozone layer depletion

***,1.,f

Ver-D -4of 4

39 The color code of plastic bag for
a) Red b) Black

laboratory

zolag,:..

IS

4A The hazardous
a) Arsenic

Biodiversity
a) Genetic b)

World Environment

Mining means
a) 'l'o conserve minerals
c) 'l'o extract minerals and ores

45 What % of its

4l

42

43

44

a) 23%

46 Hazardous Waste
a) 1988

c) Ecosystem

c) lSth June

culture waste
d) White

d) Cadmium

d) All of these

d) 16th August

c) Blue

a) 5'r'May
Day is celebrated

. - -rh -b) 5"'June
on

b) To check pollution
d) None of these

Drect conversion of solar energy is attained by
a) Solar Photo volcanic system
b) Solar diesel hybrid system i ,

c) Solar thermal system
d) Solar aLr heater

geographical area ofa
b) 43%

Management
b)l

.t ,:::::: : :'

couhtill should be

::::::,,::' C) 13%
under forest cover

d) 33%

47 Which"6f these

Q Cddmium

48 Remote sensing
dittracted by the
a) Electric waves
c) [-.lectromagnetic waves

49 The altitudinIl distance
a) 26,000km

enacted in ln the year
c) d) 1991

is the case of e-waste?

LISE

. :: ;f'

,'i,i&hxm*o'

50 Montreal protocol is

satellite from the earth is about
c) 36,000km d) 44,000km

l+

to the


